
Aire et Volume d’un Cône (J)
Calculez l’aire et le volume de chaque cône.

Aire = πr(r +
√
h2 + r2) Volume = πr2

h

3

r = 87,48 yd

h = 153,09 yd

•

1.

r = 48,80 nm

h = 50,08 nm

•

2.

r = 84,94 nm

h = 125,86 nm

•

3.

r = 51,60 nm

h = 95,20 nm

•

4.
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Aire et Volume d’un Cône (J) Réponses
Calculez l’aire et le volume de chaque cône.

Aire = πr(r +
√
h2 + r2) Volume = πr2

h

3

r = 87,48 yd

h = 153,09 yd

•

1.

Aire: 72.499,67 yd2

Volume: 1.226.854,30 yd3

r = 48,80 nm

h = 50,08 nm

•

2.

Aire: 18.201,63 nm2

Volume: 124.891,41 nm3

r = 84,94 nm

h = 125,86 nm

•

3.

Aire: 63.184,14 nm2

Volume: 950.913,16 nm3

r = 51,60 nm

h = 95,20 nm

•

4.

Aire: 25.918,32 nm2

Volume: 265.439,14 nm3
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